



Tên: _____

Ngày tháng: _____ Điểm: _____

$$(-8)^{(-1)} + 8 =$$

$$(-7)^{(-2)} + (-9) =$$

$$(-9)^0 + (-8) =$$

$$2^2 - 4 =$$

$$9 - 3 =$$

$$8^{(-2)} + 6 =$$

$$1^2 + 5 =$$

$$(-7)^{(-2)} - 3 =$$

$$4^0 + (-9) =$$

$$2^{(-2)} + 2 =$$

$$(-4)^2 - 3 =$$

$$6^{(-1)} + 5 =$$

$$(-2)^{(-2)} + 1 =$$

$$3^{(-2)} - (-1) =$$

$$4^2 - 9 =$$

$$(-6)^{(-2)} - (-4) =$$

$$(-5)^{(-2)} + (-6) =$$

$$10^{(-2)} + 9 =$$

$$7^2 - (-8) =$$

$$(-1)^{(-1)} - 7 =$$



Tên: _____

Ngày tháng: _____ Điểm: _____

$$(-8)^{(-1)} + 8 = \frac{63}{8} = 7\frac{7}{8}$$

$$(-7)^{(-2)} + (-9) = \left(-\frac{440}{49}\right) = \left(-8\frac{48}{49}\right)$$

$$(-9)^0 + (-8) = (-7)$$

$$2^2 - 4 = 0$$

$$9 - 3 = 6$$

$$8^{(-2)} + 6 = \frac{385}{64} = 6\frac{1}{64}$$

$$1^2 + 5 = 6$$

$$(-7)^{(-2)} - 3 = \left(-\frac{146}{49}\right) = \left(-2\frac{48}{49}\right)$$

$$4^0 + (-9) = (-8)$$

$$2^{(-2)} + 2 = \frac{9}{4} = 2\frac{1}{4}$$

$$(-4)^2 - 3 = 13$$

$$6^{(-1)} + 5 = \frac{31}{6} = 5\frac{1}{6}$$

$$(-2)^{(-2)} + 1 = \frac{5}{4} = 1\frac{1}{4}$$

$$3^{(-2)} - (-1) = \frac{10}{9} = 1\frac{1}{9}$$

$$4^2 - 9 = 7$$

$$(-6)^{(-2)} - (-4) = \frac{145}{36} = 4\frac{1}{36}$$

$$(-5)^{(-2)} + (-6) = \left(-\frac{149}{25}\right) = \left(-5\frac{24}{25}\right)$$

$$10^{(-2)} + 9 = \frac{901}{100} = 9\frac{1}{100}$$

$$7^2 - (-8) = 57$$

$$(-1)^{(-1)} - 7 = (-8)$$